2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ ML2PP_7_03_W_20120403.html for a detailed report).
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¢ 2.1.1 Report summary
¢ 2.1.2 Summary per product

2.2 Processing performance indicators

e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value

Report version

v1.11 26-05-2015

Time of report generation

21MAY2016 06:03:04

Data source version

ML2PP/7.03-W

Processing scope for products

03APR2012 00:00:00 to 04APR2012 00:00:00

Start time of first product within scope

02APR2012 22:28:19

Stop time of last product within scope

04APR2012 01:12:03

Total number of level 2 products

16

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

F*

Product name

Start time

Stop time

Prod err

Number of scans (tot/proc)

Quality summary warnings

MIP_NL__2PWDSI20120402_222819_000060143113_00188_52788_1000.N1

02APR2012 22:28:19

03APR2012 00:08:33

96/96

VMR_TERM_MACRO_MICRO[HCN/micro:3]

MIP_NL__2PWDSI20120403_000840_000060233113_00189_52789_1000.N1

03APR2012 00:08:40

03APR2012 01:49:02

87/87

MIP_NL__2PWDSI20120403_014909_000059913113_00190_52790_1000.N1

03APR2012 01:49:09

03APR2012 03:29:00

89/89

MIP_NL__2PWDSI20120403_032906_000060273113 00191 52791 1000.N1

03APR2012 03:29:06

03APR2012 05:09:33

90/90

MIP_NL__2PWDSI20120403_050939_000059913113_00192_52792_1000.N1

03APR2012 05:09:39

03APR2012 06:49:31

89/89

MIP_NL__2PWDSI20120403_064937_000059933113 00193_52793_1000.N1

03APR2012 06:49:37

03APR2012 08:29:30

777

MIP_NL__2PWDSI20120403_082936_000060563113 00194_52794_1000.N1

03APR2012 08:29:36

03APR2012 10:10:32

90/90

MIP_NL__2PWDSI20120403_101038_000059623113_00195_52795_1000.N1

03APR2012 10:10:38

03APR2012 11:50:00

89/89

MIP_NL__2PWDSI20120403_115007_000060563113_00196_52796_1000.N1

03APR2012 11:50:07

03APR2012 13:31:03

90/90

O|l|(NjfojO|~|jwWIN|FL]|O

MIP_NL__2PWDSI20120403_133109_000059623113_00197_52797_1000.N1

03APR2012 13:31:09

03APR2012 15:10:31

89/89

=
o

MIP_NL__2PWDSI20120403_151037_000060273113_00198 52798 1000.N1

03APR2012 15:10:37

03APR2012 16:51:04

90/90

[N
[N

MIP_NL__2PWDSI20120403_165140_000059623113_00199_52799_1000.N1

03APR2012 16:51:40

03APR2012 18:31:02

89/89

VMR_TERM_MACRO_MICRO[HNO3/micro:1]

[N
N

MIP_NL__2PWDSI20120403_183108_000060273113_00200_52800_1000.N1

03APR2012 18:31:08

03APR2012 20:11:35

90/90

[N
w

MIP_NL__2PWDSI20120403_201141 000059913113 00201 52801 1000.N1

03APR2012 20:11:41

03APR2012 21:51:32

89/89

[N
N

MIP_NL__2PWDSI20120403_ 215139 000060273113 00202_52802_1000.N1

03APR2012 21:51:39

03APR2012 23:32:06

90/90

[N
[¢)]

MIP_NL__2PWDSI20120403_233212_000059913113_00203_52803_1000.N1

03APR2012 23:32:12

04APR2012 01:12:03

(e} o) fo) fol fo) fo} o} fol o} o} fo} ol fol fol Nol No)

89/89

2.2 Processing performance indicators




2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.
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2.2.2 Pressure overview



This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.



2.2.4.6 NOZ2 overview This section shows values (left) and error (right) for NOZ after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NOZ the bin heights are 8 km.

2.2.4.7 F11 overview This section s
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hows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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MZ05 wrr [ppmv] 205 vmr standard desviation [ppmy]
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F22 vmr [pprv] F22 wimr standard deviation [ppmy]
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Tangent aititude [km] for pressure 1000 hPa
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e o RiESiSEsEsmsssRiREsneReney T EEmsESnE i
E B T "' """"""""""""""""""""""""""""" 1 """""""""""""""""""""""""""""" T H——o0 ta —E0 deg
% : : b —BO ta —BS deg
., “—B5 to 20 dag
31. 00008 .............................: ------------------------- s it [FE1-20 ta 20 dEg
= : j_ = 20 to 65 deg
[ ' =
& & B4 to 30 deg
2 PT = B0 to 00 deg
=) U.GUU"I- .......................... E-""f- ...................... e e ol ol O I e i . . | il T e /.., N ——— Fl
00002 |- aaftee o s faensd frosen s sl g e ;
e me b s ol
0,000 ’ ’
[0z 20, 240 08 00,00 D000 000000 0o:00, 00 Q0 0L O 0 00,00
a4 /01 75012 149,/01 /2012 03 /02 73012 18,700 /2012 04 /003 72012 18/03 /5012 03 /04 /3012

Tirz [atart of dayv]




Caily overage [see title]

Caily overage [see title]

MZDS vrnr [pprev] far pressure 100.0 hRa

I5x107
Iox1o7t 1{
25x107
H——o0 ta —E0 deg
B —B0 ta —65 deg
'y
2010 F—00 to —20 deq
[E-E—2C ta 20 deg
20 to &5 deq
150107 &5 to 80 dag
O to 90 deg
101070
B0x1p™
O
O 00,030 000,00 O0L00.00 000000 00:00,00 O0:00.00 0000100
04401 /2012 19,/01 /2012 03/02/2012 18,/02/2012 04703 /2012 16,/03,/ 3012 03 /04,2012
Time= [atart of day]
F12 vir [ppmv] far pressure 100.0 hPa
LNIER e : : T
45=1074
4.0x107 H——90 ta —E0 deg
B0 to —65 deg
=85 1o =20 deg
Gy [E-E—-2C to 20 deg
20 to &5 deg
B4 to 30 deg
EO to 00 deq
I0x107t
25x10™
2.0x10™

D000, 0¢: 00,00 DO:00.00 000050 (00,00 0050000 0C: 00,00
04 /i1 5012 18,701 /2012 03 /62 /9012 18 /0% /2012 04,03 /5012 18/03/2012 03 /54 /2012

Tirz [atart of dayv]



Caily average [see titla]

Craily averags [:scc ’r.'lﬂ-:]

COFZ wmr [pprmy] for pressure 100.0 hPa

1140 : .
Bx10t
B e """""""""""""""" """""""""""""""" R AR h—+—o0 ta —80 deg
: : : : | P80 to —B5 deg
: ; ; —B5 to —20 dag
T U | N T W, | | — . | [FE1-20 ta 20 deg
20 to &5 deg
: : | —B& to 30 deg
i ; i 80 to 90 deg
e s - e T (6 R e e
0 }---:::m""';m\c"""i""'"!--Fx:r.mars x:méﬂmﬁm::::x::m:r.::xar%m.t% N e R e ! o R I e R P
=210t
Oz 00,20 O 00,00 [l AN 000,00 0000, 00 Q000,080 Q0 00,00
04701 /5013 19,01 /2012 0302 /9012 18,/05,/2012 04713 /2012 18/03/5013 03 fod /2012
Timz [atart of day]
CCL4 wrnr [pprewv] far pressure 190.0 hPa
145107 ; : :
H——90 tn —EO deg
B3 _B0 to —B5 deg
—85 1o 210 deg
?_Dx-l.:,-ﬁ ---------------------------- -i----------------------------u: ---------------------------- -i----------------------------a:----' ------------------------ Er----------------------------E—- [FE1-20 ta 20 dEg
: : : : : : 20 to &5 deg
64 to 30 deg
EO to 90 dag
0O H . i : i E
NLUEAT A O 00 00 D000, 00 00 ;00,00 0000, 00 O 0000 Q% 00,00
04,701 /5012 19,01 /2012 03 /02,2012 18,/02,/2012 04703 /2012 18/03/4012 03 /o4 /2012

Tirn= [El’tu:lrt of dﬂ}"]



HCM wmr [pprav] for pressure 100.9 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tD E:I dEE
SRk : : : &0 to 90 deg
&

0.2

0.8

[N AR AR A 000,00 EHEREAN Y 000050 00, 00 D0 D0 00 000,00
04,01 /5013 19/01 /2012 03,02 /3012 18,702 /2012 04/ 03 /201 2 19703 /2012 03 /04 /2012

Timz [atart of day]
F14 vir [ppmv] far pressure 100.0 hPa
1.0 : : :
b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2
R+ ] H 0 H ! H
O 0,00 (010,00 000,00 000,00 {000, A1 Q0:00.00 (03061,
04 /01 /2012 19,701 /2012 03 /0272012 18,/02,/2012 04703 /2012 18/03,/2012 03 /042012

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [pprrv] for pressure 100.0 hPa

4.5x107

FOR e P drrsoresresrmsnneonnennennes AR L L LA LA L AR 3

35x=1074 ---------------------------- dbscoronsesesensnssnanananh ---------------------------- T LTINENEY ---------------------------
E ¥ ] : ) : : : H—+—9C to —80 deg
o ] e e R A S R R R R s e U pe—BO to —65 deg
2 : : ; : : V| fe—BS ta —20 deg
e o Bl ottt ottt ottt etttk et R TR OO TTERERET TSR RRPI R P PES EORTEREERT TR ERPOE R RR i ——
= d : . : H p 20 to &5 deg
: : : : : : i | 68 ta 80 deg
Sl e ikl ---------------------------- s L B0 to 90 deg
o2 : : : : : :

o e e forearm e frosraseasensanenennnas o oo

10mAe T --------------------------- ---------------------------- fommmmmrenn e

Ba0x1078

D000, 00 O 00,00 L0000 Q000,00 000, 00 D0 00,00 Q00,00
04,701 /2013 19,01 /2012 03,/02 /2012 18,/02,/201% 04,03 F2012 18/03/201% 03 /04,2012

Timz [atart of day]

Temperature [K] for pressure 10,0 RPa
350 : ; 5

2440

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
e—0 to —20 deq
EE1-20 to 20 deg
20 to &5 deg
—BS to 80 dag
B0 to 90 deg

230

248

Caily averaga [ase titla]

2146

200

KA AR A 04,00 D000, 00 a0 ;00,00 Q000,00 000000 ;00,00
04701 /3012 18,01 /2012 03/02,/3012 18,/05/2012 04703 /2012 18/03,/3012 03,/04,2012
Timz [atart of day]



33

32

Caily avaraga [Eee t'ltla]
La
e

]
i)

28

Tangant altitude [km] for pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

7
Oz 20, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L O 0 00,00
o4 A1 /5012 19,/01 /2012 03 /02 73012 18,7000 /2012 04 /03 /2012 18/03 /5012 03 04 /2012
Time= [atart of day]
H2O wrnr [ppry] far pressure 19.0 hPa
o : : :
7.0

Caily averaga [ase title]
m =
=] tn

vl
n

5.0

4.5

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=0 to =20 deq
FE1-20 to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

D000, 0¢: 00,00 HO:00.00 000050 (00,00 O0:00.00 0C: 00,00
04 /i1 5012 18,701 /2012 03 /62 /9012 18 /0% /2012 04,03 /5012 18/03/2012 03 /54 /2012

Tirz [atart of dayv]



Caily average [zee title]

12

=]

o

Caily avaraga [Eee t'ltla]

2

03 vmr [ppmy] for pressure 1000 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

D0;00,00 0¢: 00,00 O0:00,00 00:00,00 (000,00 O0:00.00 000,00
04 /01 /5012 19,701 /2012 03 /02 /3012 18,/702,/2012 04,703 /2012 18/03/2012 03 /04 /2012

0,007

O.008

4,005

0O, 004

0,003

O.002

Time= [atart of day]

HMO3 wmr [ppry] for pressure 10.0 hPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

00500, 0¢: 00,00 DO:00.00 000050 (00,00 0050000 0C: 00,00
04 /i1 5012 18,701 /2012 03 /62 /9012 18 /0% /2012 04,03 /5012 18/03/2012 03 /54 /2012

Tirz [atart of dayv]




CH4 wmr [ppmy] for pressure 10.0 hPa

Eg = .ﬂ‘ = EEIlZI = 5] E‘

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—e—fG to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

Caily averaga [==s title]

0.2

AR A A 04,00 D000, 00 a0 :00.00 Q000,00 Q000,00 Q00,00
04,401 /5012 19,01 /2012 03,702 /2012 18,05 /2012 04403 /201 2 18/03/2012 03 /54,2012
Time= [atart of day]

M2 vrnr [ppryv] far pressure 19.0 hPa
0.25 : :

020

=
=
tn

=
=
=]

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

Cally oiverage [see tltla]

0.0%

0.0

00 30,00 00,00 D000, 00 a0 :00.50 1500, 00 003000 Q00,00
04,401 /5013 10,70 /2012 03,702 /2012 18,705 /2012 0443 /201 2 18/03/5013 03 /54 /2012
Tirz [atart of dayv]




Caily average [see title]

Caily average [zee title]

MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa
.007 : : :

C.006

005
H——00 ta —E0 deg
e —B0 to —BS deg
$.004 F—00 to —20 deg
[F-E-20 ta 20 deg
20 to &5 deq
0003 : ; 65 to 30 deq
] B0 to 90 deg
£.002 F m A A ol
1 i th
oo TR ,; ............................ .i ............................ E ............................ i ............................ ;, ............................ i
O, 008
Oz 20, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L O 0 00,00
o4 A1 /5012 19,/01 /2012 03 /02 73012 18,7000 /2012 04 /03 /2012 18/03 /5012 03 04 /2012
Time= [atart of day]
MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa
8,016 ; ; ;
O014
0012 |-~ s engaing
H——00 to —E0 deg
L.018 B0 to —BS deg
=05 to =20 deg
e [F-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
O006 B0 to 00 deg
o004
0.002
O, 008
[0z 20, 240 08 00,00 D000 000000 0o:00, 00 Q0 0L O 0 00,00
a4 /01 75012 149,/01 /2012 03 /02 73012 18,700 /2012 04 /003 72012 18/03 /5012 03 /04 /3012

Tirz [atart of dayv]



Daily averaga [ase titla]

Daily averaga [ase titla]

h

431078

Jx10"

Qx'H}-‘E

1:1078

o

F11 vmr [ppmy] far pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

0050000 0¢: 00,00 DO:00,00 00:00,00 (000,00 O0:00.00 000,00
04 /01 /5012 19,701 /2012 03 /02 /3012 18,/702,/2012 04,703 /2012 18/03/2012 03 /04 /2012

00012

00018

0.cons

0.C00E

0,004

0.0002

R

Time= [atart of day]

CLMO vmr [ppmy] faor pressure 10.0 RPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

00500, 0¢: 00,00 HO:00.00 000050 (00,00 O0:00.00 0C: 00,00
04 /i1 5012 18,701 /2012 03 /62 /9012 18 /0% /2012 04,03 /5012 18/03/2012 03 /54 /2012

Tirz [atart of dayv]




Caily overage [see title]

4,005

O.004

MZDE vmr [pprmy] for pressure 10.0 hPa

o003

o002

Caily average [see title]

0,001

0,008

3 e '- o i
: }_\._,}g.r.r_:uﬁl_-,?h;-_ B

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg
B0 to 90 deg

D0500,00 0¢: 00,00 O0:00,00 000000 (000,00 O0:00.00 000,00
04 /01 /5012 19,701 /2012 03 /02 /3012 18,/702,/2012 04,703 /2012 18/03/2012 03 /04 /2012

Eo=1074

25x107

2o=1o7t

1 8x107t

1.0xq0~tp---- il i_.'.. g A A T I......'.....:i...".-. e,

Box1o™

Time= [atart of day]

F12 vmr [ppmy] far pressure 10.0 hPa

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

o
D000, 0¢: 00,00 DO:00.00 000050 (00,00 0050000 0C: 00,00
04 /i1 5012 18,701 /2012 03 /62 /9012 18 /0% /2012 04,03 /5012 18/03/2012 03 /54 /2012

Tirz [atart of dayv]



Caily avaraga [eee titla]

Caily overage [see title]

35«07

Jox1o™

COFZ wmr [pprv] for pressure 10.0 hPa

2.8x107

20x1o7

H—+—9C to —80 deg
[#—#—BC to —B5 deg
e—0G to —20 deq
FE1-20 to 20 deg

20 to &5 deg

—BS to 80 dag

B0 to 00 deg

1.5x107

10x107

O 00,00
o4 /01 75012

(000,00
19,701 /2012

O0E00.00
0302 79012

a0 ;00,00
18,/05/2012
Timz [atart of day]

100, 00
04 /03 72012

O0:00.05
18/03/5012

(0% 00,000
03 04 /2012

25=1078

20xip™

1.5%1078

101078

Eox1o7l

—5.0x107"

—1.0x107F

—1.5x157"

CCL4 vmr [pprev] far pressure 19.0 hRa

H—+—9C to —E0 deg
[#——BC to —B5 deqg
—e—00 to 20 deq
EE1—20C to 20 deg

20 to &5 deg

64 to 30 deg

BO to 90 deg

O 0,00
04 /01 /2012

(000,00
19,701 /2012

000,00
03 /0272012

000,00
18,/02,/2012

Tirn= [El’tu:lrt of dﬂ}"]

{000, A1
04703 /2012

Q0:00.00
18/03,/2012

(03061,
03 /042012




HCH wrr [pprov] for pressure 10.0 hPa

1.8 ;
T H—+—00 ta B0 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ................................................................................................................. T T L _Eﬁ tn EG dEE
SRk ' ; : &0 to 90 deg
&

0.2

0.8

[N AR AR A 000,00 EHEREAN Y 000050 00, 00 D0 D0 00 000,00
04,01 /5013 19/01 /2012 03,02 /3012 18,702 /2012 04/ 03 /201 2 19703 /2012 03 /04 /2012

Timz [atart of day]
F14 vmr [ppmy] far pressure 10.0 hPa
1.0 T : r
B o ............................ o ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2

L : : : : : :

(TR A 00 0,00 D000 (000,00 000, 00 000,00 000,00
04,01 /2012 19,01 /2012 03 /022012 18,/0F/2012 04/ 03 /2012 19/03/2012 03,/04/2012

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [ppmy] far pressure 10.0 hPa

Timz [atart of day]

25107
20107
z (a0 ta —50 deg
» 1.5x107 [ —B0 ta —B5 deg
2 4—B5 to —20 deg
o [F-61-20 ta 20 deg
5 20 to 85 dag
L-H]
& % —BS to 80 dag
5 TOx10 £0 to 90 dag
=
[k}
E.=1078
O
[N AR AR A 000,00 EHEREAN Y 000050 00, 00 D0 D0 00 000,00
04,701 /5012 18 /01 /2012 03, f02,/3012 18,/00/2012 04,/03,/2012 18,/03/3012 03,/04,72012
Timz [atart of day]
Temperature [K] for pressure 1.0 hPa
2940 / : T
280
Z70¢
& (a0 ta —50 deg
Sy 80 to —B5 deg
A, 4—B5 to —20 deg
e [F-61-20 ta 20 deg
=2 20 to &5 deg
& ——E5 to 30 dag
I 040 &0 to 90 deg
a
230
220
210
[N AR AR A 000,00 EHEREAN Y 000050 00, 00 D0 D0 00 000,00
04,701 /5012 18 /01 /2012 03, f02,/3012 18,/00/2012 04,/03,/2012 18,/03/3012 03,/04,72012



a1

al

44

&

Caily avaraga [Eee t'ltla]
5

Tangent altitude [km] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg

: 20 to &5 deq
o —65 to 30 dag
16 EO to 90 deq
45 f
44 :
43 :
[0, O 00,0 D000.00 Q000,00 0000, 00 Q000,00 Q000,00
WERGEWR b 19,01 f2012 0302 /2012 18,/00,/201% o4 /03 f2012 18703 /301 % 03 S04 2012

Time= [atart of day]

Cogily civerage [see titla]

3

HZC wimr [pprmy] far pressure 1.0 hPa

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

D0: 00,00
04 /i1 5012

0¢: 00,00
18,701 /2012

DO:00.00
03 /62 /9012

a0 :00.50
18,705 /2012
Tirz [atart of dayv]

(00,00
04,03 /5012

0050000
18/03/2012

0C: 00,00
03 /54 /2012



Daily averaga [ase titla]

o.E

5.0

e bl i
n =) £n

Caily averaga [==s title]

e
(e

2.5

2.0

03 wmr [ppmy] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

D0500,00 0¢: 00,00 D0:00,00 00:00,00 (000,00 O0:00.00 000,00
04 /01 /5012 19,701 /2012 03 /02 /3012 18,/702,/2012 04,703 /2012 18/03/2012 03 /04 /2012

Time= [atart of day]

HMOZ wmr [pprav] for pressure 1.0 hPa

00012
0.0010
0.2008 H——90 ta —E0 deg
63 —EC to —B5 deg
=G5 to =20 deg
Sl [G-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
EO to 00 deq
0,C004
n.oo02
0,000
[ S0 00 800,00 D000 000000 800, 00 Q00000 000,00
0401 /2012 19,/01 /2012 03/02/2012 18,/02/2012 04703 /2012 18,/03,/ 3012 03 /04 /2012

Tirz [atart of dayv]




Caily average [zee title]

CH4 wmr [ppmy] for pressure 1.0 hPa
0.7 : : :

=
£n

=
=

=
e

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

Caily averaga [==s title]

&
b

0.1

0.8
Oz 20, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L O 0 00,00
o4 A1 /5012 19,/01 /2012 03 /02 73012 18,7000 /2012 04 /03 /2012 18/03 /5012 03 04 /2012
Time= [atart of day]
MEC wvimr [pprmy] far pressure 1.0 hPa
0,020 : :

D013

ta
o
=
o

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

o005

ki : ' B e ™ 4 '

0,000 mﬂmﬁm%% W

00 30,00 00,00 D000, 00 a0 :D0.50 1500, 00 003000 Q00,00
04,401 /5013 10,70 /2012 03,702 /2012 18,705 /2012 04413 /201 2 18/03/5012 03 /54 /2012
Tirz [atart of dayv]




00016

0.0014

0.0012

000G

0.2008

0,000 6

Caily averaga [ase titla]

0,004

0.C0o02 ===

0, G00s

MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—e—fG to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

0050000 0¢: 00,00 D0:00,00 00:00,00 (000,00 O0:00.00 000,00
04 /01 /5012 19,701 /2012 03 /02 /3012 18,/702,/2012 04,703 /2012 18/03/2012 03 /04 /2012

0,025

O.020

4015

0,010

Caily average [zee title]

0,005

0,005

Time= [atart of day]

MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

‘e

00500, 0¢: 00,00 DO:00.00 000050 (00,00 0050000 0C: 00,00
04 /i1 5012 18,701 /2012 03 /62 /9012 18 /0% /2012 04,03 /5012 18/03/2012 03 /54 /2012

Tirz [atart of dayv]




F11 wimr [ppmy] for pressure 1.0 hPo

H—+—0C to —E0 deg
[+ —B0C to —B5 deg

——0 to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

1.2x10™ : 7
'1.I:I><'1'D4 ............................ : ......................................................... 5. ............................................... T .....................................
: : f

i :
T B.0x1070 ; ¢ 5
E ;
w : 7
on 1
=, ]
£ j :
E E‘LQX-H}"& : .................................................................. L
= 1 :
= 4 ;
o ]

A.0x107" K +

an=1p8

Oz 20, 240 000,00 D=0, 00 000050 o:00, 00 Q0 0L O 0 00,00
o4 A1 /5012 19,/01 /2012 03 /02 73012 18,7000 /2012 04 /03 /2012 18/03 /5012 03 04 /2012
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Temnperature [K] for pressure 100.0 kPa

240

730
= 230 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® oin [F-£1—20 ta 20 deg
Fa 20 to 35 deq
z —— 65 to 0 deg
= &0 to 90 deq
S 200

180

184 : ; : : : :

D0z 00LC0 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
04 /04 Feot s 18701 /2012 03,702 Fa012 18,08 /2012 04/ 03,7201 2 16 /0373012 03,704 /5012

Timz [atart of day]




Tangent altitude [km] for pressure 100.2 hPa
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16.5
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+—+—8C to —80 deg
=3 —B0 to —B5 deg
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& 133 —B5 to —20 deg
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e 20 to 35 deq
5 150 —— 65 to 0 deg
= &0 to 90 deq
&

145
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HZC vrar [pprew] for pressure 1909.0 hPa
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2.3

2.0

in

(=

Daily averaga [=as title]

@%%%DDDDWW%@%W
0.0 ’ : ] : : E

O3 winr [ppmy] for pressure 100.0 hPa

+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
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b 3 1 " 1
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HNOS wmr [ppeny] for pressure 100.0 hPa
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CH4 vimr [pprmw] far pressure 100.0 hPa
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E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
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MNZC vrnr [pprew] for pressure
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. : : 5 : i | [EE-20 ta 20 deg
= ; 20 to 85 deg
R N S SO SN OO OO | [t to 80 deg
= 03 ' ' ! ' S0 to 90 deg
&
.30 S S S S
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Timz [atart of day]



Caily everage [see title]

F11 vmr [pprrv] for pressure 100.0 hPd
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CLNO wmr [ppmy] for pressure 100.0 kPa
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Caily everage [see title]

MNZCE wrnr [pprey] for pressure 100.0 hPa
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Caily everage [see title]

F12 vmr [pprrv] for pressure 100.0 hPd
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Craily average [Ei:n: ﬂ’cl:]

COFZ wmr [ppmv] for pressure 100.0 hPa
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e £ E [ 1 ool a0 ta —EO deg

4= —BC to —BS deg
' ' : ' —G3 to —20 deg
P SO S, SRS WU § N b S | Fre-20 ta 20 aeg

' : : 20 to 35 deq
—ES to 30 deq
B0 to 90 deq

pLg (sl E— SR — USSR SR N SO — SO S ——

-----
1

—2u it

D500 (00,40 00,00 (006,50 (00, 00 00,15 O 00,0
o4 /01 Fa01z 18 ,/01 /2012 03 00,2012 18,705,201 2 04 /03 201 2 18/03/ 5012 03 fd 2 2
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Caily everage [see title]

CCL4 vinr [pprov] for pressure 100.0 hPa
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+—+—00 to —B0 deg
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Timz [atart of day]



HCM wrr [pprov] for pressure 10002 hPa
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F14 vmr [pprrv] for pressure 100.0 hPd
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Caily everage [see title]
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F22 vmr [pprrv] for pressure 100.0 hPd
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Temperature [K] for preasure 10.0 hPa
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Tangent altitude [kmn] for pressure 1000 hPa
33 H : H
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Timz [atart of day]
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H2Z wrnr [pprev] for pressure 190.0 hPa
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K3 —B5 to —20 deg
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O3 winr [ppmy] for pressure 10.0 hPd

+—+—8C to —80 deg
=3 —B0 to —B5 deg

B
o
o —B5 ta —20 deg
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z —— 65 to 0 deg
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a
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Caily overage [see title]

HMO3 wmr [pprry] for pressure 1000 KPa
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+—+—00 to —B0 deg
=+ —B0 to —65 deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq
B0 to 90 deg

£,002 . - : : , :
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o4 /01 Fa01z 18 ,/01 /2012 03 00,2012 18,705,201 2 04 /03 201 2 18/03/ 5012 03 fd 2 2

Timz [atart of day]




1.6

CH4 wnr [ppmy] for pressure 10.0 hPa

e ; e o o
Ba 5 E 3B %. E'EI = !
1.4 i ; i '
1.2
= (90 to —50 deg
- - —B0 to —65 deg
m 1.0 —B5 to —20 deg
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2 20 to 35 deq
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&
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Cally cwverage [see titla]

MNZ2 wrnr [pprev] for pressure 190.0 hPa
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+—+—8C to —80 deg

NI L ‘:'T ........................................................ fere e srssre e srases s spase s spa s e sn e b e e [ES——— R e S = L < L)
! i ! i 5 : —65 to —20 deg
: : ' : i | BE-20 to 20 deg
; 20 to 85 deg
D-‘H} ............................ : ............................. E ............................ L : N L LT N, e TR S g IS LI I =5 k. i. —EﬁtDE':IEIEg
‘ iﬁmﬁﬂﬁﬁaﬁ.ﬂ A E0Q to 90 deg
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Caily overage [see title]

MNOZ wrr, sun eleve==0 [ppmy] far pressure 10.0 hPa
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O 006
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ool TR : ............................ .l ............................ : ............................ | ............................ : ............................ -
000 ; : : : , :
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Timz [atart of day]




Caily overage [see title]

MOZ wrr, sun elev<0 [ppmy] for pressure 10.0 hPd

o018
o014
0.012
a0 ta —E0 deg
0.010 % —B0 to —65 deg
—G3 to —20 deg
0,008 - [3-E1-20 ta 20 deg
20 to 35 deq
—ES to 30 deq
.00 80 to 80 deg
o004
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0,005 ; : . : , :
D0z 00LC0 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
04701 /5012 19,701 /2012 0370273012 18,/02,2012 04,703 /2012 189/03/2012 03 /04 /3012

Timz [atart of day]



F11 winr [ppmy] far pressure 10.0 hPa

S 107
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7 [—+—00 ta —B0 deg
g B0 to —65 deg
o —B5 to —20 deg
m [E1—-2C to 20 deg
m

= 20 to 85 deg

i
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= &0 to 90 deq

E

151078

L0 000,00 Q000,00 O 00, 0 Q000,00 000,00 A 00,00
04 /01 F2012 19,01 /2012 03 /02,2012 18,/02/201% o4/03 /2012 18/03F,/ 2012 03 /04 /2012
Timz [atart of day]



CLMO wmr [ppmy] for pressure 10.0 hPa

08012
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= 0.0008 (90 to —50 deg
- - —B0 to —65 deg
o —B5 to —20 deg
® o ooos [F-£1—20 ta 20 deg
2 20 to 35 deq
= —— 65 to 0 deg
= &0 to 90 deq
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0,0000 - . . : : :

D0z 00LC0 000,00 D0C000 000,00 Q000,00 Q000,00 000,00
04 /04 Feot s 18701 /2012 03,702 Fa012 18,08 /2012 04/ 03,7201 2 16 /0373012 03,704 /5012

Timz [atart of day]



MNZCE vimr [pprmy] far pressure 19.0 hPa

0,005

{004

0,003

0,002

Caily overage [see title]

.00

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
—ES to 30 deq

B0 to 90 deg

O, 000

D500
o4 /01 Fa01z

o - '-:....-.t- E A,

04 /03 201 2 18/03/ 5012

03 00,2012 18,705,201 2

19,01 /2012
Timz [atart of day]
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Caily everage [see title]

F12 vinr [ppmyv] faor pressure 10.0 hPa
ENIES [V ; : :

25x1074

2.0x157 H—+—00 to —E0 deg
4= —BC to —BS deg
—G3 to —20 deg
1 B in—t [E1—-2C to 20 deg
20 to 35 deq
—ES to 30 deq
: 50 to 90 deg
1.0 o e e e T T i
E.0x1070

(1,090 (00,40 00,00 (006,50 (00, 00 00,15 O 00,0
o4 /01 Fa01z 18 ,/01 /2012 03 00,2012 18,705,201 2 04 /03 201 2 18/03/ 5012 03 fd 2 2

Timz [atart of day]



Caily everage [see title]

COFZ wmr [pprav] for pressure 10.0 kPa

35=107
Zaoxio™
+—+—8C to —80 deg
2[5}{1{:'-4 [— —B0 1o —B5 dEg
—G3 to —20 deg
[E1—-2C to 20 deg
20 to 35 deq
—ES to 30 deq
-4
2010 S0 to 90 deg
1.5x107
101074 : . - , : ,
Doz 00,00 Q0 00,00 Q000,00 Q000,00 Q000,00 Q000,00 Q0 00,00
04701 /2012 19,701 /2012 £3/02/2012 18,/02,/201% o4 03 2012 16/03/2012 037042012

Timz [atart of day]




Caily averaga [eea titla]

CCL4 wmr [pprov] for pressure 19.0 hPa

2.5x1075
anx1p?
1521077
iy H—+—00 ta —E0 deg
T.0x18 % —B0 to —65 deg
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E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
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E ................................................................................................................. e T R T L _Eﬁ tD EI:' dEH
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04 /01 /5012 18 /81 f2012 03 ,/02 /9012 18,02 /9012 04/ 03 /201 2 18 /03,2012 0304 /2012

Timz [atart of day]
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—ES to 30 deq
-4
1010 S0 to 90 deg
X Ea
o ' . ' . ' .
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+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

18 ,/01 /2012

AN Q00000 005, a0

03 /02,2012 18,/02/201% o4/03 /2012
Timz [atart of day]

18/03/ 5012 03 fd 2 2




Temperdature [K] for pressure ©.1 hPa
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